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2.1 CERERNEFS

#include <stdio.h> — E ( Iibrary)@‘ag
/*EREINEE : TR EZERIEIR

ANOS% . BRIEaFb .

BENE . BEREafbzR /0 X
int multiply( int a, int b)

{

return (a*b); Eﬁg

}
I //4§;ﬁﬁji////
int main( ){

int x, y, product;

printf("Please input two integers:");

scanf("%d%d", &x, &y);  /*EAFENEEZxHy*/

product = multiply(x, y); /AR multiplyit&x#lyadsEiR*/
printf("The product is %d\n", product); /*iEitix FlyRIFEFE*/
return 0;




2.1 CRERKEEMS

ity ERRCEFNESR
[¥ERBINEE: TTERNEHAIFRA

AOSs¥%: #EKafb

int multiply(int a, int b)

{ PRETHIE N,

return (a*b); PRENEED. BREUA(GED ; }
¥
[*EFH*

intmain() s B : EFAOAD
printf("Please input two integers:");

scanf("%d%d", &x, &y);  /*HIAFENEEExFy*/ RZLAVE R -
product=multiply(x, y); [* VAR BB multiply it ExFYHITRI | WSS e
printf("The product is %d\n", product); /*#itix FlyHIsEFa*/
return O;




2.1 CERERREFS

#include <stdio.h>
[*EREThEE: TTHEAENBHEIFER
ANOS¥: BEHafb
REME: EIHafibzii *
int multiply( int a, int b)

{ —— \\ /\MH-UWE
return (a*b); REX 3 E:iXE

b BINRR

[*ERH*/ N2

int main( ) s m

{ intx,y, product; / RMFTELS

printf("Please in % raHZE R % A (nput)
scanf("%d%d", ; B ¥xFay*/

product = multiply(x, /*wm@ﬁm@;ﬁu‘g e

H(Process)
printf("The produ

s %d\n", product); %ﬁﬂuﬁiﬁ%m* /
return 0; i (Output)
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2.1 CERERREFS

#include <stdio.h> _
[*ERBINEE: TTEANEHRITER

AOS%: EHYafb 1 ¥4 - 5B
IREME: FERHafibziR * ,
int multiply( int a, int b) 2 FRRRT  ARTEN. HRFBEENX
{
return (a*b);
by
[*ERH*/
int main( )

{ intx, vy, product;
printf("Please input two integers:");
scanf("%d%d", &x, &y); /*HEINFENERExFY*/
product = multiply(x, y); [ * A R multiplyit B xFyp el *
printf("The product is %d\n", product); /*#idix FyHIEFA*/
return O;
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21 CEEFREMS

#include <stdio.h>
[*EHIhEE: THHEBPNEREITRERA
ANOS¥.: ERKafb
IREME: #HRHaFfbzi */
int multiply(int a, int b)
{
return (a*b),;
}
[*ERH*/
int main( )
{ intXx,y, product;

scanf("%d%d", &x, &y);
product=multiply(x, y);

return O;

printf("Please input two integers:");

[N RN ER HxFy*/
/%A & multiplyit ExFy ) sEfa* /

printf("The product is %d\n", product); /*#itix FyHIFEFL*/
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(B2 (int)

( EfEESLA ( float)
HANKR { s {
WBESLES ( double )

~Ff5E (char)
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BEANEIESRE

« BRI (int)
. FEVS20105ME T 4 NETS | SF
. 5@.2:@}?,'?—\"\_”

- HIBE x,%\ m#l(float) , EVS2010 F H4NEFET |, SBE
- XUEE ZmEI(double) , EVS2010 F 581 =FT

« 78 (char)
.« ZEVS2010E T H17MNEH

2207

dll

il
*~NJ

» sizeof (F4FESEY)
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SHESRARNS DT

» short/long ( SAEFHHIZD)
- shortint , J82%{ , —21"FPIK. BEESHshort
* long int , IKEEY , — R4 NMF1IK. BEEE Along
* long double , KXUEE ( SRE ) iF=EL
* signed/unsigned ( ##ERYIESR )
- signed fAsR{&Ifchar, int , IXBEME(IRERSHIEESEL ( IEEEEL. OFNHELY) .
EHRE
- unsigned k(& fchar, int , IXBBMBAIR TR SAVEEEL ( IEERELF00 )

- =21
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- FB&E ( Constant ) 2irEYiERETIEFRE
BEARBEAENEHIE,

. BRI

Al S B2

16



O

I

- Tt - 18,

o J\HEHITERIE

-31

i

F#4=20 : 023, 057

* 7 HHIERY

II0_EOxE&OX : Ox1la , OXA
« BRVEMEVARINtEY
e F&I. L. u. U, lu, LUZE : 123456l ,

123456Lu
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o« HiHEINETER, ¢ 123.45, 456.78
B : le-2. 4.5e3

- SRR ERE JdoubleBl
- BIINE&RI. L. f. F: 3.14f, 3.14L

- floatB2EUERM /MBREF , A7
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- B—XJE5|S " fEiEEK
« BAJFJEN=ESRT : 'a'. 'A'L 5. %', ' ',
- IBHIFR B\ BN ERF, W \n 'F,
=24
« ASCIIfS ( fiy==A )
« B FRIERR IR —ANEEEE |, FRAASCIES,
( American Standard Code for Information Interchange )

- HENERE. AR | LASCIE T , 40 : 'A'RIRE 65. 'a'TIRI974,
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« NZRIC
. A --=-65 ‘@’ ----97
. 0" =48 17 ----32
- 15

» KINEFEIHIFEHR
C INEFF-32=-AEFE
M b -32= B
- FF oYL
. B A8 =
o : 8+48=" 8
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—XIX 5 | SRFN S N FATFFIHERR
« 40 : "hello” , “Thisisaprogram” , "A" &

W5 | SHETCRANZF TR BERREARII—

|~
SFR \0 (EREERIRS
"hello"- h-| e-| I | I-| o0-] \0-|
"A"é' A(—’ \00 + + + + 1
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.5 50 ‘5' "5"
SR EAER  Binti,
* 5. 02— L EE , Ffloatfl,
5B 1P FEMNHBE , charfy,
5" B I EMEREREE,
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TS mE

EVF : #define <imRG> <58 >
. 4] : #define PI 3.14159

o \\115!]

1R #defineARCEFIET | BEIRB D
=
=]

23



- SEFMABE—F
* MR MIETRRNZIEFNINGE , RNEEEW

- R ABIRERNIE , FEESASIER | iLSIABIER
SRR EE

- REhT

* PR

=1/

- BRIk
* l$¥=l=
- 1255




10844 lines (9220 sloc) 273 KB
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// SPDX-License-Identifier: GPL-2.0-only
/%
kernel/sched/core.c

*

*

% Core kernel scheduler code and related syscalls

*
* Copyright (C) 1991-2002 Linus Torvalds

#define CREATE_TRACE_POINTS

#include <trace/events/sched.h>

#undef CREATE_TRACE_POINTS

#include "sched.h"

#include <linux/nospec.h>

#include <linux/kcov.h>
#include <linux/scs.h>

#include <asm/switch_to.h>
#include <asm/tlb.h>

#include "../workqueue_internal.h"
#include "../../fs/io-wq.h"
#include "../smpboot.h"

#include "pelt.h"
#include "smp.h"

/*

* Export tracepoints that act as a bare tracehook (ie: have no trace event
* associated with them) to allow external modules to probe them.

*/

492
493
494
495
496
497
498
499
500
501
502
503
504
505
506
507
508
509
510
511
512
513
514
515

bool raw_spin_rq_trylock(struct rq xrq)

{

raw_spinlock_t xlock;
bool ret;

/* Matches synchronize_rcu() in __sched_core_enable() */

preempt_disable();

if (sched_core_disabled()) {
ret = raw_spin_trylock(&rg->__lock);
preempt_enable();
return ret;

for (5;) {
lock = __rq_lockp(rq);
ret = raw_spin_trylock(lock);

if ('ret || (likely(lock == __rqg_lockp(rqg)))) {

preempt_enable();
return ret;
}

raw_spin_unlock(lock);

ar\“ﬂ BuifuoN
B
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24 T=
- 58 ( Variable ) EitEN BRSSP EE AT LA 4 KA

fill X

« 2E ( Constant ) 2itEN R TIEFHEAREKENTHE
« TEEK  SoENXGERE
- TEMEN :

KEE TER,

short i;

long sum;

double score;
char ¢
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L ERIRI

int i=5;
S — R
double y = float x = 3.1f; Example: Lprint.c
char c¢="T" + 32;
P T ZTERE !
EbER
inti;

°
r

—— FTEE , AERt
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L EAAN

- scanf EIAERZEYL
- ZUERIN | BUEMNBINSSEZEIAEFETRHNTE

- T8I\
o scanf(f&zUIzHI=RTER, TEMUIERS);
int a; scanf("%d", &a);
float x; scanf("%f", &x);
double y; scanf("%lIf", &y);

char ¢ scanf("%c", &¢); \

- 722.5 PREscanfAItE AL A BART AEHI\n

LB
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L ERV AR H——scanf

- scanf("%d%d",&a,&b);

BB : 1< >2<mE>
NBBANEER : a=1, b=2
scanf("%d,%d",&a,&b);

SMNEREA : 1,2<B%E>
NEMAGER : a=1, b=2
scanf("%2d%3d%4d",&a,8&b,8c);

= MEEEEA : 1234567890<[EZE >
MEANLEER : a=12, b=345, c=6789

. 2.6 FA¥scanfiERXIEIRE




ZERYH

Wi
&

- printf iEHEREL

- FEmE | SUENAFPREEXE R HIRES
- BT\

» printf(FBTIEHIFFT 5, MH{ESEER);
orintf("Hello world'\n" );
orintf( "The product is %d\n", product);
orintf("size = %d \n", sizeof(product) );
- 322.7 REprintfAS NIRRT
. 322.8 R printfBIR ISR
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ZERH

- 540 -

* printf("%f, %f", 3.14, 3.14159265);

HHEEERY : 3.140000, 3.141593 |
oint a=127;

printf("%d, %0, %x", a, a, a);

RS : 127,177, 7f \
ochar ch="A’;
printf("%c, %d", ch, ch);
MHEES : A, 65 \
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L&

- {5140 -
. printf("%.10f, %.10f",3.141592653589793,
3.141592653589793f):

4L e : 3.1415926536, 3.1415927410 \

Example: 1.print.c
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L ERYVHINFIHIL

- 2.2 HEREUEEIR

HEAREN 52 HEARE X ~ 5
PR YYYY-MM-DD 2018-9-10
H YYYYEMMADDH 2018F9H10H
%2H MM/DD/YYYY 9/10/2018
HE DD/MM/YYYY 10/9/2018

o IBITIZERHPIMEITER
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TEATHNFIRL

- 512.2 BEAtS T FEHL
HAEAE R 993 HEAEK ~ i
P YYYY-MM-DD 2018-9-10

EEW1 : EREHAIELIYYYYMMDD
Mo MGE. 20 BRI BRI A
 AEEENEEEN0, EFMAIEN ?

BEW2 : FliAscanfiEAPNEERNSE 7
HUtEItFFS , EFREITERE TR ?
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L 2T ——getchar, putchar

* FATELE SRV NI EREK

« <Tr&E>= getchar();
 putchar(<&#>);

+ 512.3 RV FR AR N
+ EVS20105M% M TR FH D HTEI T4

BEE . EHRPMNERIIMAABC<[OZE> ,

RIS TERAER ?
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constiZInfIIREL =

« Q153 & ( Read-Only Variable )
+ const FHERE RIFTER ;
const double pi=3.14159;

§ Ltk g2sa : #define PI 3.14159

. 512.4
« WNRIEKpi ?
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R ERFRIAE A R

- IRIEKRAFCRAEZ ERYZEE, (FrE. 28 i)
- (TERENEETE | Hlhint , FEREERESFENX,

- [RENRTF , (FERIENE.
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¥2.5 EAGIERAMEITBAINERRIERDR

« BRIIRTENFPRRIFER L
 [Bf8 ( True Code)

« 28 ( Ones-Complement Code )

« *M8 ( Complement Code )

o« BEEP R IHASIEMERY D TUFIERY
g LZ*&EI’J%I\E DR
FRERIMEEERIE +1

N

41



ERSIRENFHRIFMERL

e shortB!E#-32645F1-123/% MG

-32645 B FEIS. -123 BRI RS

1.; 1111111.| 1000 0101. |- 1./ 000 0000.| 01111011 |
-32645 HIR 5. -123 B9 R HD.

1./ 000 0000-| 0111 1010 |- 1. 111 1111- | 1000 0100. |
-32645 BI#ME.

1. 0000000-| o1111011. | | 148 B%E : At ZLshort

BEARYEEBELD :
-32768~32767 ?
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o THEFHIEN12.6253F Y —iFH£1100.101 , [
01100.101 =0.1100101 x 2 100

o B#{S=0. 1100101 , Fi48j=100
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° %Z ﬁ;'kcﬁu

« RN UEE 2B eER
o« SLEEAFSIRY
- BERFEHE
s IMAIENX —EZE
« {715 :
- FBREIR BRI, A, Wi =3B ERk
« KRN T EEEE G TE=E=
o KINGFZERVIEHR
« NFSHF=rTAVAEHT

e sizeof()
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« MOOCEE TS

- B EIT— . =, {1, 2).

s IS E=FERIRA.

« 1I{E0-16F9+7Nid . TiHHIZRED,
12\, WL\ O\ \t EEHENFR.
10fERIE. 00 . A 'a’ BYASCIIEG,
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